



Research article

# New classes of analytic and bi-univalent functions

Luminița-Ioana Cotîrlă\*

Technical University of Cluj-Napoca, Department of Mathematics, Cluj-Napoca, Romania

\* **Correspondence:** Email: Luminita.Cotirla@math.utcluj.ro, luminita.cotirla@yahoo.com.

**Abstract:** Using the (p,q)-derivative operator we introduce new subclasses of analytic and bi-univalent functions, we obtain estimates on coefficients and the Fekete-Szegő functional.

**Keywords:** Fekete-Szegő problem; (p,q)-derivative operator; univalent functions; bi-univalent functions; analytic functions; coefficient bounds and coefficient estimates

**Mathematics Subject Classification:** 30C45, 30C50

## 1. Introduction and Preliminary results

Let  $\mathcal{A}$  denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \tag{1.1}$$

which are analytic in the open unit disk  $U = \{z \in \mathbb{C} : |z| < 1\}$  and normalized by the conditions  $f(0) = 0, f'(0) = 1$ .

Let  $S \subset \mathcal{A}$  denote the class of all functions in  $\mathcal{A}$  which are univalent in  $U$ .

The Koebe One-Quarter Theorem [5] ensures that the image of the unit disk under every  $f \in S$  functions contains a disk of radius  $1/4$ .

It is well known that every functions  $f \in S$  has an inverse  $f^{-1}$ , which is defined by

$$f^{-1}(f(z)) = z, z \in U$$

and

$$f(f^{-1}(w)) = w, |w| < r_0(f), r_0(f) \geq 1/4$$

where

$$g(w) = f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots \tag{1.2}$$

A function  $f \in \mathcal{A}$  is said to be bi-univalent in  $U$  if both  $f$  and  $f^{-1}$  are univalent in  $U$ .

Let  $\Sigma$  denote the class of all bi-univalent functions in  $U$  given by (1).

The class of bi-univalent functions was first introduced and studied by Lewin [12] and was showed that  $|a_2| < 1, 51$ .

The problem of maximizing the absolute value of the functional  $|a_3 - \mu a_2^2|$  is called the Fekete-Szegő problem. Many authors obtained Fekete-Szegő inequalities for different classes of functions [2], [6], [8], [11], [14]. Coefficient estimates of bi-univalent functions are studied in many papers, of which I mention: [1], [3], [7], [9], [10], [12], [17], [18], [19], [20].

For the new results posted in the last section we have to recall the necessary elements of the  $(p, q)$ -calculus involving.

There is possibility of extension of the  $q$ -calculus to post quantum calculus denoted by the  $(p, q)$ -calculus.

When the case  $p = 1$  in  $(p, q)$ -calculus, the  $q$ -calculus may be obtained.

In order to derive our main results, we need to following lemmas:

**Lemma 1.** [15] If  $p \in \mathcal{P}$ , then  $|c_k| \leq 2$  for each  $k$ , where  $\mathcal{P}$  is the family of all functions  $p$  analytic in  $U$  for which

$$\Re(p(z)) > 0, p(z) = 1 + c_1z + c_2z^2 + \dots,$$

for  $z \in U$ .

**Lemma 2.** [5] Let  $p \in \mathcal{P}$  be of the form  $p(z) = 1 + c_1z + c_2z^2 + \dots$ . Then  $|c_2 - \frac{c_1^2}{2}| \leq 2 - \frac{|c_1|^2}{2}$  and  $|c_k| \leq 2, k \in \mathbb{N}$ .

**Lemma 3.** [13] If  $p(z) = 1 + c_1z + c_2z^2 + \dots, z \in U$  is a function with positive real part in  $U$  and  $\mu$  is a complex number, then

$$|c_2 - \mu c_1^2| \leq 2 \max\{1; |2\mu - 1|\}.$$

The result is sharp for the function given by

$$p(z) = \frac{1+z^2}{1-z^2} \text{ and } p(z) = \frac{1+z}{1-z}, z \in U.$$

**Definition 4.** Let  $f \in \mathcal{A}$  given by (1.1) and  $0 < q < p \leq 1$ . Then the  $(p, q)$ -derivative operator or  $p, q$ -difference operator for the function  $f$  of the form (1.1) is defined by

$$D_{p,q}f(z) = \frac{f(pz) - f(qz)}{(p-q)z}, z \in U^* = U - \{0\} \quad (1.3)$$

and

$$(D_{p,q}f)(0) = f'(0) \quad (1.4)$$

provided that the function  $f$  is differentiable at 0.

From the relation (1.2), we deduce that

$$D_{p,q}f(z) = 1 + \sum_{k=2}^{\infty} [k]_{p,q} a_k z^{k-1} \quad (1.5)$$

where the  $(p, q)$ -bracket number or twin-basic is given by

$$[k]_{p,q} = \frac{p^k - q^k}{p - q} = p^{k-1} + p^{k-2}q + p^{k-3}q^2 + \dots + pq^{k-2} + q^{k-1}, p \neq q \quad (1.6)$$

which is a natural generalization of the  $q$ -number.

Also  $\lim_{p \rightarrow 1^-} [k]_{p,q} = [k]_q = \frac{1-q^k}{1-q}$

See [4,16].

## 2. Main results

**Definition 5.** A function  $f$  given by (1.1) is said to be in the class  $H_{\Sigma}^{p,q,\alpha}$  ( $0 < q < p \leq 1, 0 < \alpha \leq 1$ ), if the following conditions are satisfied:

$$\begin{cases} f \in \Sigma \\ |\arg(D_{p,q}f(z))| < \frac{\alpha\pi}{2}, (z \in U) \end{cases} \quad (2.1)$$

and

$$|\arg(D_{p,q}g(w))| < \frac{\alpha\pi}{2}, (w \in U) \quad (2.2)$$

where the function  $g$  is given by (1.2).

**Remark 6.** When  $p = 1$ ,  $\lim_{q \rightarrow 1^-} H_{\Sigma}^{p,q,\alpha} = H_{\Sigma}^{\alpha}$ , where  $H_{\Sigma}^{\alpha}$  is the class introduced in [19].

In the next theorem we obtain coefficient bounds for the functions class  $H_{\Sigma}^{p,q,\alpha}$ .

**Theorem 7.** Let the function  $f$  given by (1.1) be in the function class  $H_{\Sigma}^{p,q,\alpha}$  ( $0 < q < p \leq 1, 0 < \alpha \leq 1$ ). Then

$$|a_2| \leq \frac{2\alpha}{\sqrt{2[3]_{p,q}\alpha + (1-\alpha)[2]_{p,q}^2}} \quad (2.3)$$

and

$$|a_3| \leq \frac{4\alpha^2}{[2]_{p,q}^2} + \frac{2\alpha}{[3]_{p,q}} \quad (2.4)$$

*Proof.* From the relations (2.1) and (2.2) it follows that

$$D_{p,q}f(z) = [P(z)]^{\alpha}$$

and

$$D_{p,q}g(w) = [Q(w)]^{\alpha}, (z, w \in U) \quad (2.5)$$

where  $P(z) = 1 + p_1z + p_2z^2 + \dots$  and  $Q(z) = 1 + q_1w + q_2w^2 + \dots$  in  $\mathcal{P}$ .

From the relation (2.5), we obtain the next relations

$$[2]_{p,q}a_2 = a_2 \frac{p^2 - q^2}{p - q} = \alpha p_1 \quad (2.6)$$

$$[3]_{p,q}a_3 = a_3 \frac{p^3 - q^3}{p - q} = \alpha p_2 + \frac{\alpha(\alpha - 1)}{2} p_1^2 \quad (2.7)$$

$$- [2]_{p,q}a_2 = -a_2 \frac{p^2 - q^2}{p - q} = \alpha q_1 \quad (2.8)$$

and

$$[3]_{p,q}(2a_2^2 - a_3) = (2a_2^2 - a_3) \frac{p^3 - q^3}{p - q} = \alpha q_2 + \frac{\alpha(\alpha - 1)}{2} q_1^2 \quad (2.9)$$

It follows that

$$p_1 = -q_1 \quad (2.10)$$

and

$$2[2]_{p,q}^2 a_2^2 = \alpha^2 (p_1^2 + q_1^2) \quad (2.11)$$

The relations (2.10) and (2.11) are obtained from the relations (2.6) and (2.8). We obtain that

$$\begin{aligned} 2[3]_{p,q}a_2^2 &= 2a_2^2 \frac{p^3 - q^3}{p - q} = \alpha(p_2 + q_2) + \frac{\alpha(\alpha - 1)}{2} (p_1^2 + q_1^2) = \\ &= \alpha(p_2 + q_2) + \frac{\alpha - 1}{\alpha} [2]_{p,q}^2 a_2^2. \end{aligned} \quad (2.12)$$

This relation is obtained from (2.9) and (2.11). We get from (2.12)

$$a_2^2 = \frac{\alpha^2}{2[3]_{p,q}\alpha + (1 - \alpha)[2]_{p,q}^2} (p_2 + q_2). \quad (2.13)$$

From Lemma 1 for the above equality, we get the estimate on the coefficient  $|a_2|$  as asserted in the relation (2.3).

We subtract (2.9) from (2.7) and find the bound on the coefficient  $|a_3|$ .

We get it that way

$$2[3]_{p,q}a_3 - 2[3]_{p,q}a_2^2 = 2a_3 \frac{p^3 - q^3}{p - q} - 2a_2^2 \frac{p^3 - q^3}{p - q} = \alpha(p_2 - q_2) + \frac{\alpha(\alpha - 1)}{2} (p_1^2 - q_1^2). \quad (2.14)$$

It follows that,

$$a_3 = \frac{\alpha^2}{2[2]_{p,q}^2} (p_1^2 + q_1^2) + \frac{\alpha}{2[3]_{p,q}} (p_2 - q_2),$$

from the relations (2.10), (2.11) and (2.14).

And if we apply Lemma 1 for the above equality, we obtain the estimate on the coefficient  $|a_3|$  as asserted in (2.4).  $\square$

When  $p = 1$ ,  $q \rightarrow 1^-$  in Theorem 7, we obtain the following result given in [19].

**Corollary 8.** [19] Let  $f(z)$  given by (1.1) be in the class  $H_{\Sigma}^{\alpha}$  ( $0 < \alpha \leq 1$ ). Then  $|a_2| \leq \alpha \sqrt{\frac{2}{\alpha+2}}$  and  $|a_3| \leq \frac{\alpha(3\alpha+2)}{3}$ .

**Definition 9.** A function  $f$  given by (1.1) is said to be in the class  $H_{\Sigma}^{p,q,\beta}$  ( $0 < q < p \leq 1, 0 \leq \beta < 1$ ) if the following conditions are satisfied:

$$\begin{cases} f \in \Sigma \\ \mathcal{R}\{D_{p,q}f(z)\} > \beta, z \in U \end{cases} \quad (2.15)$$

$$\mathcal{R}\{D_{p,q}g(w)\} > \beta, w \in U, \quad (2.16)$$

where the function  $g$  is defined by (1.2).

**Remark 10.** When  $p = 1$  and  $q \rightarrow 1^-$  we obtain the class  $H_{\Sigma}(\beta)$  introduced in [19].

In the next theorem we obtain coefficient bounds for the functions class  $H_{\Sigma}^{p,q,\beta}$ .

**Theorem 11.** Let the function  $f$  be given by (1.1) be in the function class  $H_{\Sigma}^{p,q,\beta}$  ( $0 < q < p \leq 1$ ). Then

$$|a_2| \leq \min\left\{\frac{2(1-\beta)}{[2]_{p,q}}, \sqrt{\frac{2(1-\beta)}{[3]_{p,q}}}\right\} \quad (2.17)$$

$$|a_3| \leq \frac{2(1-\beta)}{[3]_{p,q}}. \quad (2.18)$$

*Proof.* It follows from the conditions (2.15) and (2.16) that

$$D_{p,q}f(z) = \beta + (1-\beta)P(z) \quad \text{and} \quad D_{p,q}g(w) = \beta + (1-\beta)Q(w), \quad z, w \in U \quad (2.19)$$

respectively, where

$$P(z) = 1 + p_1z + p_2z^2 + \dots$$

and

$$Q(w) = 1 + q_1w + q_2w^2 + \dots \quad \text{in } \mathcal{P}.$$

We obtain

$$[2]_{p,q}a_2 = a_2 \frac{p^2 - q^2}{p - q} = (1-\beta)p_1 \quad (2.20)$$

$$[3]_{p,q}a_3 = a_3 \frac{p^3 - q^3}{p - q} = (1-\beta)p_2 \quad (2.21)$$

$$-[2]_{p,q}a_2 = -a_2 \frac{p^2 - q^2}{p - q} = (1-\beta)q_1 \quad (2.22)$$

$$[3]_{p,q}(2a_2^2 - a_3) = (2a_2^2 - a_3) \frac{p^3 - q^3}{p - q} = (1-\beta)q_2, \quad (2.23)$$

upon equating the coefficients in (2.19). Now, from the relations (2.20) and (2.22), we obtain

$$p_1 = -q_1 \quad (2.24)$$

and

$$2[2]_{p,q}^2 a_2^2 = (1-\beta)^2(p_1^2 + q_1^2) \quad (2.25)$$

Now, from the relations (2.21) and (2.23) we have

$$2[3]_{p,q}a_2^2 = 2a_2^2 \frac{p^3 - q^3}{p - q} = (1 - \beta)(p_2 + q_2) \quad (2.26)$$

From Lemma 1 for the relations (2.26) and (2.25), we obtain the estimate on the coefficient  $|a_2|$  as asserted in (2.17).

Now, we subtract (2.23) from (2.21) and we obtain

$$2[3]_{p,q}a_3 - 2[3]_{p,q}a_2^2 = 2a_3 \frac{p^3 - q^3}{p - q} - 2a_2^2 \frac{p^3 - q^3}{p - q} = (1 - \beta)(p_2 - q_2) \quad (2.27)$$

From (2.25) and (2.26) we can obtain  $a_2^2$ . From (2.27) we get

$$a_3 = \frac{(1 - \beta)^2}{2[2]_{p,q}^2}(p_1^2 + q_1^2) + \frac{(1 - \beta)}{2[3]_{p,q}}(p_2 - q_2) \quad (2.28)$$

By using the relation (2.26) into (2.27) it follows that

$$a_3 = \frac{(1 - \beta)}{2[3]_{p,q}}(p_2 + q_2) + \frac{1 - \beta}{2[3]_{p,q}}(p_2 - q_2) = \frac{(1 - \beta)p_2(p - q)}{p^3 - q^3} = \frac{(1 - \beta)p_2}{[3]_{p,q}} \quad (2.29)$$

If we apply Lemma 1 for the relations (2.28) and (2.29) we get the estimate on the coefficient  $|a_3|$  as asserted in (2.18).  $\square$

We obtain the next corollary.

**Corollary 12.** Let  $f(z)$  given by (1.1) be in the function class  $H_\Sigma(\beta)$  ( $0 \leq \beta < 1$ ). Then

$$|a_2| \leq \sqrt{\frac{2(1 - \beta)}{3}}$$

and

$$|a_3| < \frac{(1 - \beta)(5 - 3\beta)}{3}.$$

**Definition 13.** Let  $b, t : U \rightarrow \mathbb{C}$  be analytic functions and

$$\min\{\mathcal{R}(b(z)), \mathcal{R}(t(z))\} > 0, (z \in U),$$

$$b(0) = t(0) = 1.$$

A function  $f$  given by (1.1) is said to be in the class  $H_\Sigma^{p,q,b,t}$  if the following conditions are satisfied:

$$D_{p,q}f(z) \in b(U) \quad (2.30)$$

and

$$D_{p,q}g(w) \in t(U), \quad (2.31)$$

where  $z, w \in U$  and the function  $g$  is given by (1.2).

In the next theorem we obtain coefficient bounds for the functions class  $H_\Sigma^{p,q,b,t}$ .

**Theorem 14.** Let  $f$  given by (1.1) be in the class  $H_{\Sigma}^{p,q,b,t}$ . Then

$$|a_2| \leq \min\left\{\sqrt{\frac{|b'(0)|^2 + |t'(0)|^2}{2[2]_{p,q}^2}}, \sqrt{\frac{|b''(0)| + |t''(0)|}{2[3]_{p,q}}}\right\} \quad (2.32)$$

$$|a_3| \leq \min\left\{\frac{|b'(0)|^2 + |t'(0)|^2}{2[2]_{p,q}^2} + \frac{|b''(0)| + |t''(0)|}{4[3]_{p,q}}, \frac{|b''(0)|}{2[3]_{p,q}}\right\} \quad (2.33)$$

*Proof.* We will write the equivalent forms of the argument inequalities in the relations (2.32) and (2.33).

$$D_{p,q}f(z) = b(z) \quad (2.34)$$

and

$$D_{p,q}g(w) = t(w), \quad (2.35)$$

where  $b(z)$  and  $t(w)$  satisfy the conditions from Definition 13 and it have the following Taylor-Maclaurin series expansions:

$$b(z) = 1 + b_1z + b_2z^2 + \dots \quad (2.36)$$

$$t(w) = 1 + t_1w + t_2w^2 + \dots \quad (2.37)$$

We find that

$$[2]_{p,q}a_2 = b_1 \quad (2.38)$$

$$[3]_{p,q}a_3 = b_2 \quad (2.39)$$

$$-[2]_{p,q}a_2 = t_1 \quad (2.40)$$

$$[3]_{p,q}(2a_2^2 - a_3) = t_2, \quad (2.41)$$

substituting from (2.36) and (2.37) into (2.34) and (2.35) and equating the coefficients.

We obtain that

$$b_1 = -t_1 \quad (2.42)$$

and

$$2[2]_{p,q}^2a_2^2 = b_1^2 + t_1^2 \quad (2.43)$$

from the relations (2.38) and (2.40). We obtain that

$$[3]_{p,q}a_3 + [3]_{p,q}(2a_2^2 - a_3) = b_2 + t_2 \quad (2.44)$$

Adding the relation (2.2) and (2.3). From the relations (2.44) and (2.45), we can find

$$a_2^2 = \frac{b_1^2 + t_1^2}{2[2]_{p,q}^2} \quad (2.45)$$

and

$$a_2^2 = \frac{t_2 + b_2}{2[3]_{p,q}}. \quad (2.46)$$

We can calculate from the relations (2.45) and (2.46) that

$$|a_2|^2 \leq \frac{|b'(0)|^2 + |t'(0)|^2}{2[2]_{p,q}^2}$$

and

$$|a_2|^2 \leq \frac{|b''(0)| + |t''(0)|}{2[3]_{p,q}}.$$

So, we obtain the desired estimate on the coefficient  $|a_2|$  as asserted in the relation (2.32).

Now, subtracting the relation (2.41) from the relation (2.39), we obtain

$$2[3]_{p,q}a_3 - 2a_2^2[3]_{p,q} = b_2 - t_2 \quad (2.47)$$

Substituting  $a_2^2$  from (2.45) into (2.47) it follows that

$$a_3 = \frac{b_2 - t_2}{2[3]_{p,q}} + \frac{b_1^2 + t_1^2}{2[2]_{p,q}^2}.$$

It follows that

$$|a_3| \leq \frac{|b'(0)|^2 + |t'(0)|^2}{2[2]_{p,q}^2} + \frac{|b''(0)| + |t''(0)|}{4[3]_{p,q}}.$$

Substituting the value of  $a_2^2$  from the relation (2.46) into the relation (2.47), we get

$$a_3 = \frac{b_2}{[3]_{p,q}}.$$

It follows that

$$|a_3| \leq \frac{|b''(0)|}{2[3]_{p,q}}.$$

□

Now, we compute the Fekete-Szegő functional for the class  $H_{\Sigma}^{p,q,\alpha}$ .

**Theorem 15.** *Let  $f$  of the form (1.1) be in the class  $H_{\Sigma}^{p,q,\alpha}$ . Then*

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{\alpha}{[3]_{p,q}}, |r(\mu)| \leq \frac{1}{2[3]_{p,q}} \\ 2\alpha|r(\mu)|, |r(\mu)| \geq \frac{1}{2[3]_{p,q}} \end{cases} \quad (2.48)$$

*Proof.* From Theorem 7 we can use the value of the coefficients  $a_2^2$  and  $a_3$  to compute  $a_3 - \mu a_2^2$ .

$$\begin{aligned} a_3 - \mu a_2^2 &= \alpha \left[ p_2 \left( \frac{1}{2[3]_{p,q}} + \frac{(1-\mu)\alpha}{2[3]_{p,q}\alpha + (1-\alpha)[2]_{p,q}^2} \right) + \right. \\ &\quad \left. + q_2 \left( \frac{(1-\mu)\alpha}{2[3]_{p,q}\alpha + (1-\alpha)[2]_{p,q}^2} - \frac{1}{2[3]_{p,q}} \right) \right]. \end{aligned}$$

If we denote by

$$r(\mu) = (1-\mu) \frac{\alpha}{2[3]_{p,q}\alpha + (1-\alpha)[2]_{p,q}^2}.$$



It follows that

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{\alpha}{[3]_{p,q}}, |r(\mu)| \leq \frac{1}{2[3]_{p,q}} \\ 2\alpha|r(\mu)|, |r(\mu)| \geq \frac{1}{2[3]_{p,q}} \end{cases}$$

□

Now, we compute the Fekete-Szegő functional for the class  $H_{\Sigma}^{p,q,\beta}$ .

**Theorem 16.** *Let  $f$  of the form (1.1) be in the class  $H_{\Sigma}^{p,q,\beta}$ . Then*

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{1-\beta}{[3]_{p,q}}, r(\mu) \leq \frac{1}{2[3]_{p,q}} \\ 2(1-\beta)|r(\mu)|, |r(\mu)| \geq \frac{1}{2[3]_{p,q}} \end{cases}. \quad (2.49)$$

*Proof.* From Theorem 11 we can use the value of the coefficients  $a_2^2$  and  $a_3$  to compute  $a_3 - \mu a_2^2$ .

$$\begin{aligned} a_3 - \mu a_2^2 &= \\ &= (1-\beta)[p_2(\frac{1}{2[3]_{p,q}} + \frac{1-\mu}{2[3]_{p,q}}) + q_2(\frac{1-\mu}{2[3]_{p,q}} - \frac{1}{2[3]_{p,q}})]. \end{aligned}$$

If we denote by

$$r(\mu) = (1-\mu)\frac{1}{2[3]_{p,q}}$$

It follows that

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{1-\beta}{[3]_{p,q}}, r(\mu) \leq \frac{1}{2[3]_{p,q}} \\ 2(1-\beta)|r(\mu)|, |r(\mu)| \geq \frac{1}{2[3]_{p,q}} \end{cases}$$

□

### Conflict of interest

The author declares no conflicts of interest in this paper.

### References

1. Ş. Altinkaya, S. Yalçın, Faber polynomial coefficient bounds for a subclass of bi-univalent functions. *C. R. Math. Acad. Sci. Paris*, **353** (2015), 1075–1080.
2. R. Bucur, L. Andrei, D. Breaz, Coefficient bounds and Fekete-Szegő problem for a class of analytic functions defined by using a new differential operator. *Appl. Math. Sci.*, **9** (2015), 1355–1368.
3. A. Catas, Some inclusion relations for a certain family of multivalent functions involving nonhomogeneous Cauchy-Euler differential equation, *An. Univ. Oradea Fasc. Mat.*, Tom XVII (2010), 51–64.
4. R. B. Corcino, On  $p, q$ -binomial coefficients, *Integers*, **8** (2008), A29.
5. P. L. Duren, *Univalent Functions*, Grundlehren der Mathematischen Wissenschaften; Springer-Verlag, New York, 1983.

6. J. Dziok, A general solution of the Fekete-Szegő problem, *Bound. Value Probl.*, **2013** (2013), 1–13.
7. S. M. El-Deeb, T. Bulboacă, B. M. El-Matary, Maclaurin Coefficient Estimates of Bi-Univalent Functions Connected with the  $q$ -Derivative, *Mathematics*, **8** (2020), 418.
8. M. Fekete, G. Szegő, Eine bemerkung über ungerade schlichte funktionen, *J. Lond. Math. Soc.*, **8** (1933), 85–89.
9. M. Govindaraj, S. Sivasubramanian, On a class of analytic functions related to conic domains involving  $q$ -calculus, *Anal. Math.*, **43** (2017), 475–487.
10. J. M. Jahangiri, S. G. Hamidi, Faber polynomial coefficient estimates for analytic bi-Bazilevic functions, *Mat. Vesnik*, **67** (2015), 123–129.
11. S. Kanas, An unified approach to the Fekete-Szegő problem, *Appl. Math. Comput.*, **218** (2012), 8453–8461.
12. M. Lewin, On a coefficient problem for bi-univalent functions, *Proc. Amer. Math. Soc.*, **18** (1967), 63–68.
13. W. Ma, D. Minda, A unified treatment of some special classes of univalent functions, *Proceedings of the Conference on Complex Analysis*, 1992.
14. A. O. Pall-Szabo, G. I. Oros, Coefficient Related Studies for New Classes of Bi-Univalent Functions, *Mathematics*, **8** (2020), 1110.
15. C. Pommerenke, *Univalent functions*, Vanderhoeck and Ruprecht: Gottingen, Germany, 1975.
16. P. N. Sadjang, On the fundamental theorem of  $(p,q)$ -calculus and some  $(p,q)$ -Taylor formulas, *archiv:1309.3934[math.QA]*.
17. S. Sivasubramanian, R. Sivakumar, S. Kanas, S-A. Kim, Verification of Brannan and Clunie's conjecture for certain sub- classes of bi-univalent functions, *Ann. Polon. Math.*, **113** (2015), 295–304.
18. H. M. Srivastava, Ş. Altinkaya, S. Yalçın, Hankel Determinant for a Subclass of Bi-Univalent Functions Defined by Using a Symmetric  $q$ -Derivative Operator, *Filomat*, **32** (2018), 503–516.
19. H. M. Srivastava, A. K. Mishra, P. Gochhayat, Certain subclasses of analytic and bi-univalent functions, *Appl. Math. Lett.*, **23** (2010), 1188–1192.
20. A. K. Wanas, A. Alb Lupas, Applications of Horadam Polynomials on Bazilevic Bi- Univalent Function Satisfying Subordinate Conditions, *Journal of Physics: Conf. Series*, **1294** (2019), 032003.



AIMS Press

©2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>)